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Dr.SalinFadd ~ October22,2008

#1) A box contains ﬁve balls. Numbers 1 2 3 4 a.nd 5 are attached to those balls A person '

selects a number (ball) randomly from the box and put it aside. Later on, he selects the second
number randomly and put it a31de If the second number he selected is btgger than the first
~ one, he selects the third number randomly and put it aside. If the third number he selected is

~ bigger than the second one, he selects the fourth number randomly and put it aside and so on. -

the number of selecttomthat is made b}- the person Deterrnme the

_ probabthtv functlon of

' #2) Barbara and Dlanne go target shootrng Suppose that each of Barbara S shots hltS the o
- wooden duck ‘target with the probabthty p,, while each shot of Dlarrne S hrts 1t wrth

'probabthty p,, Suppose that they shoot srmultaneouely at the same target If the wooden duck

18 knocked over (1r1d1catmg that 1t was hlt) what 1S he probabrht) that
~a) both shots hit the duck? o - =
. b) Barbara S shot h1t the duck‘? I

'#3) Calculate probabtllty that the followmg system WOI‘kb Assume that devrces work

L mdependently
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. PLS) = P(Dﬂg):: P(D) . P‘.g)
P(B) = PX, UXs) = 0240| —=0,2x0 (= 0,28

PEE) = PEUT)=P@) 4 pE) - P(A) P(T)

P(A’> = P(Mﬂ;z(\;;) — P(Z) GFD(_?Z>‘P()§> = O/} x 0, 2 x O AS
= 2 ¥

p(C)= P(BN ga) =P(B).D(X,)
P(C) = Oiyy RIS =0,00 4

- -1 -
PLE) = 3X107+ 0,06k — 3 0% 0,0tb =0 065900

P(5)=10.23x 0069801 < 0,019 LyS L
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